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<?xml version="1.0" encoding="UTF-8"?>
<RoadGmxml xmlns:xsi="http://www.w3.0rg/2001/XMLSchema-instance" xsi:noNamespaceSchemal.ocation="RoadGmxm]l.xsd">
<ProjectInfo>
<ProjectName>O OiE 7l 5% 5 </ProjectName>
<CreatorInfo>
<Person> |l H K H</Person>
<Company>O Oz% itk A&t </Company>
</CreatorInfo>
<CreateDate>2006-06-22</CreateDate>
<ProjectPhase>3¥ffi</ProjectPhase>
<Note>B & LHERIE T — 7 ZSHEHE (42) 2 7' L7 — & </Note>
</ProjectInfo>

<CRSs>

<CRS CRSName="CRS1">
<GeodeticDatum>JGD2000</GeodeticDatum>
<VerticalDatum StdName="T.P." DifferToTP="0.000000"/>
<Horizontal CoordinateSystem>9(X,Y)</Horizontal CoordinateSystem>
<VerticalCoordinateSystem>H</Vertical CoordinateSystem>
<Remark>%; 9 & </Remark>

</CRS>
</CRSs>

<RoadGm RouteName="—#xEEOO%F (OO#) () OOJIJCT~ () OOILC" Classification="% 1 FEHZE 2 K"
TrafficVolume="28400" DesignSpeed="100">
<GmPntsGrp>
<GmPnts Name="%22 7% 522 #i" Note="2Z 7 JEIED U A k">
<GmPnt Name="kousal" x="2480.728421" y="27341.811548"/>
<GmPnt Name="kousa2" x="693.902632" y="28259.893773"/>
</GmPnts>
</GmPntsGrp>
<Alignments>
<Alignment Name="MARUMARUDOU" RefCRS="CRS1" Note="a. OQOj#
<Horizontal Name=""F ifi #t & 1" StartStationNO="-9" StartAddDist="12.849540" CumulativeDist="-912.849540"
EndStationNO="75" EndAddDist="99.775792" Length="8512.625332 " Method="%HL">
<StationEquation>

<Interval Main="100"/>

</StationEquation>
<ElementPnts>

<ElementPnt Name="BC01-0" x="3937.000000 " y="25640.000000 "/>
<ElementPnt Name="EBCO01-1" x="3481.593670 " y="26326.382810 "/>
<ElementPnt Name="KAEO01-1" x="1943.410254 " y="27759.551716 "/>
<ElementPnt Name="KEEO01-1" x="1628.169584 " y="27962.242624 "/>
<ElementPnt Name="KEO01-1" x="1250.155612 " y="28121.347378 "/>
<ElementPnt Name="KA02-1" x="977.625590 " y="28190.587501 "/>
<ElementPnt Name="KE02-1" x="654.200632 " y="28271.066864 "/>
<ElementPnt Name="KAE02-1" x="-265.573235 " y="28717.842516 "/>
<ElementPnt Name="KEE02-1" x="-397.635376 " y="28819.460318 "/>
<ElementPnt Name="KE02-2" x="-1117.903288 " y="30452.402920 "/>
<ElementPnt Name="KA03-1" x="-1091.522565 " y="30732.350888 "/>
<ElementPnt Name="KE03-1" x="-1069.783839 " y="30971.295794 "/>
<ElementPnt Name="KE03-2" x="-1102.102468 " y="31341.996868 "/>
<ElementPnt Name="KA03-2" x="-1164.862542 " y="31573.574961 "/>

</ElementPnts>

<Pls>

[ AzmEf] >

<PI Name="TP1" x="2822.105260 " y="27767.725679 " Note="BC01-0~KA02-1 [{"/>
<PI Name="TP2" x="-1328.923412 " y="28719.382440 " Note="KA02-1~KA03-1 [{"/>
<PI Name="IP3" x="-1041.021099 " y="31160.562746 " Note="KA03-1~KA03-2 [{]"/>
</Pls>

<IntermediatePnts>
<IntermediatePnt Name="-0+87.666061" x="3481.593670 " y="26326.382810 " CumulativeDist="-87.666061"
TangentDirectionAngle="129-30-04.194"/>
<IntermediatePnt Name="0+00.000000" x="3425.492581 " y="26393.746963
TangentDirectionAngle="130-10-23.501"/>
<IntermediatePnt Name="1+00.000000" x="3360.601734 " y="26469.832756 "
TangentDirectionAngle="130-53-21.811"/>
<IntermediatePnt Name="2+00.000000" x="3294.764909 " y="26545.101490 "
TangentDirectionAngle="131-36-20.121"/>
<IntermediatePnt Name="3+00.000000" x="3227.992393 " y="26619.541404 "
TangentDirectionAngle="132-19-18.431"/>
<IntermediatePnt Name="4+00.000000" x="3160.294619 " y="26693.140869 "
TangentDirectionAngle="133-02-16.741"/>
<IntermediatePnt Name="5+00.000000" x="3091.682164 " y="26765.888383 "
TangentDirectionAngle="133-45-15.051"/>
<IntermediatePnt Name="6+00.000000" x="3022.165749 " y="26837.772581 "
TangentDirectionAngle="134-28-13.361"/>

" CumulativeDist="0.000000"

CumulativeDist="100.000000"

CumulativeDist="200.000000"

CumulativeDist="300.000000"

CumulativeDist="400.000000"

CumulativeDist="500.000000"

CumulativeDist="600.000000"
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<IntermediatePnt Name="7+00.000000" x="2951.756236 " y="26908.782230 " CumulativeDist="700.000000"
TangentDirectionAngle="135-11-11.671"/>

<IntermediatePnt Name="8+00.000000" x="2880.464627 " y="26978.906236 " CumulativeDist="800.000000"
TangentDirectionAngle="135-54-09.981"/>

<IntermediatePnt Name="9+00.000000" x="2808.302059 " y="27048.133641 " CumulativeDist="900.000000"
TangentDirectionAngle="136-37-08.292"/>

<IntermediatePnt Name="10+00.000000" x="2735.279810
TangentDirectionAngle="137-20-06.602"/>

<IntermediatePnt Name="11+00.000000" x="2661.409287
TangentDirectionAngle="138-03-04.912"/>

<IntermediatePnt Name="12+00.000000" x="2586.702034
TangentDirectionAngle="138-46-03.222"/>

<IntermediatePnt Name="13+00.000000" x="2511.169722
TangentDirectionAngle="139-29-01.532"/>

<IntermediatePnt Name="14+00.000000" x="2434.824155
TangentDirectionAngle="140-11-59.842"/>

<IntermediatePnt Name="15+00.000000" x="2357.677261
TangentDirectionAngle="140-54-58.152"/>

<IntermediatePnt Name="16+00.000000" x="2279.741093
TangentDirectionAngle="141-37-56.462"/>

<IntermediatePnt Name="17+00.000000" x="2201.027829
TangentDirectionAngle="142-20-54.772"/>

<IntermediatePnt Name="18+00.000000" x="2121.549769
TangentDirectionAngle="143-03-53.082"/>

<IntermediatePnt Name="19+00.000000" x="2041.319329
TangentDirectionAngle="143-46-51.392"/>

<IntermediatePnt Name="20+00.000000" x="1960.349047 '
TangentDirectionAngle="144-29-49.702"/>

<IntermediatePnt Name="20+20.806374" x="1943.410254 '
TangentDirectionAngle="144-38-48.424"/>

</IntermediatePnts>

%)

y="27116.453629 " CumulativeDist="1000.000000"

y="27183.855526 " CumulativeDist="1100.000000"

y="27250.328800 " CumulativeDist="1200.000000"

y="27315.863064 " CumulativeDist="1300.000000"

y="27380.448079 " CumulativeDist="1400.000000"

y="27444.073753 " CumulativeDist="1500.000000"

y="27506.730146 " CumulativeDist="1600.000000"

y="27568.407467 " CumulativeDist="1700.000000"

y="27629.096079 " CumulativeDist="1800.000000"

y="27688.786501 " CumulativeDist="1900.000000"

y="27747.469404 " CumulativeDist="2000.000000"

y="27759.551716 " CumulativeDist="2020.806374"

<GmElement Name="CURVEO01" StartElementPnt="BC01-0" EndElementPnt="EBC01-1" RefPI="IP1">
<Curve Direction="cw" Radius="4000.000000" Length="825.183479"/>
</GmElement>
<GmElement Name="CURVE02" StartElementPnt="EBC01-1" EndElementPnt="KAEO01-1" RefPI="IP1">
<Curve Direction="cw" Radius="8000.000000" Length="2108.472435"/>
</GmElement>
<GmElement Name="CLOTHOIDO01" StartElementPnt="KAEO01-1" EndElementPnt="KEE01-1" RefPI="I1P1">
<Clothoid Direction="cw" StartRadius="8000.000000" EndRadius="2000.000000" A="1000.000000"
Length="375.000000"/>
</GmElement>
<GmElement Name="CURVEO03" StartElementPnt="KEE01-1" EndElementPnt="KEO01-1" RefPI="IP1">
<Curve Direction="cw" Radius="2000.000000" Length="410.854811"/>
</GmElement>
<GmElement Name="CLOTHOIDO02" StartElementPnt="KE01-1" EndElementPnt="KA02-1" RefPI="IP1">
<Clothoid Direction="cw" StartRadius="2000.000000" EndRadius="0.000000" A="750.00000" Length="281.250000"/>
</GmElement>
<GmElement Name="CLOTHOIDO03" StartElementPnt="KA02-1" EndElementPnt="KE02-1" RefPI="I1P2">
<Clothoid Direction="cecw" StartRadius="0.000000" EndRadius="3000.000000" A="1000.000000"
Length="333.333333"/>
</GmElement>
<GmElement Name="CURVE04" StartElementPnt="KE02-1" EndElementPnt="KAE02-1" RefPI="IP2">
<Curve Direction="ccw" Radius="3000.000000" Length="1027.557811"/>
</GmElement>
<GmElement Name="CLOTHOIDO05" StartElementPnt="KAE02-1" EndElementPnt="KEE02-1" RefPI="IP2">
<Clothoid Direction="ccw" StartRadius="3000.000000" EndRadius="2000.000000" A="1000.000000"
Length="166.666667"/>
</GmElement>
<GmElement Name="CURVEO05" StartElementPnt="KEE02-1" EndElementPnt="KE02-2" RefPI="1P2">
<Curve Direction="ccw" Radius="2000.000000" Length="1849.988776"/>
</GmElement>
<GmElement Name="CLOTHOIDO06" StartElementPnt="KE02-2" EndElementPnt="KA03-1" RefPI="1P2">
<Clothoid Direction="ccw" StartRadius="2000.000000" EndRadius="0.000000" A="750.000000"
Length="281.250000"/>
</GmElement>
<GmElement Name="CLOTHOIDO07" StartElementPnt="KA03-1" EndElementPnt="KE03-1" RefPI="IP3">
<Clothoid Direction="cw" StartRadius="0.000000" EndRadius="1500.000000" A="600.000000"
Length="240.000000"/>
</GmElement>
<GmElement Name="CURVEO06" StartElementPnt="KE03-1" EndElementPnt="KE03-2" RefPI="IP3">
<Curve Direction="cw" Radius="1500.000000" Length="373.068020"/>
</GmElement>
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<GmElement Name="CLOTHOIDO08" StartElementPnt="KE03-2" EndElementPnt="KA03-2" RefPI="IP3">
<Clothoid Direction="cw" StartRadius="1500.000000" EndRadius="0.000000" A="600.000000"
Length="240.000000"/>
</GmElement>
<Superelevation>
<CPVI IsSide="9k43 Bt A= (RIHR M HE 5>
<SPVIPnt StationNO="28" AddDist="6.661187" CumulativeDist="2806.661187" Grade="2.000000"/>
<SPVIPnt StationNO="34" AddDist="21.244521" CumulativeDist="3421.244521" Grade="-2.000000 "/>
<SPVIPnt StationNO="64" AddDist="65.457772" CumulativeDist="6465.457772" Grade="-2.000000 "/>
<SPVIPnt StationNO="69" AddDist="86.707772" CumulativeDist="6986.707772" Grade="3.000000 "/>
<SPVIPnt StationNO="73" AddDist="59.775792" CumulativeDist="7359.775792" Grade="3.000000 "/>
<SPVIPnt StationNO="75" AddDist="19.775792" CumulativeDist="7519.775792" Grade="2.000000 "/>
<SPVIPnt StationNO="75" AddDist="99.775792" CumulativeDist="7599.775792" Grade="-2.000000 "/>
</CPVI>
<CPVI IsSide="9F4yBfeA (AR MU HLE f5">
<SPVIPnt StationNO="28" AddDist="6.661187" CumulativeDist="2806.661187" Grade="-2.000000 "/>
<SPVIPnt StationNO="34" AddDist="21.244521" CumulativeDist="3421.244521" Grade="2.000000 "/>
<SPVIPnt StationNO="64" AddDist="65.457772" CumulativeDist="6465.457772" Grade="2.000000 "/>
<SPVIPnt StationNO="69" AddDist="86.707772" CumulativeDist="6986.707772" Grade="-3.000000 "/>
<SPVIPnt StationNO="73" AddDist="59.775792" CumulativeDist="7359.775792" Grade="-3.000000 "/>
<SPVIPnt StationNO="75" AddDist="19.775792" CumulativeDist="7519.775792" Grade="-2.000000 "/>
</CPVI>
</Superelevation>
</Horizontal>
<Vertical Name="#it Wi # /% 1" RefHorizontalName="" i #% /¥ 1" StartStationNO="-9" StartAddDist="12.849540"
CumulativeDist="-912.849540" EndStationNO="75" EndAddDist="99.775792" Length="8512.625332">
<PVI PVIType="#f ">
<PVIPnt StationNO="-9" AddDist="12.849540" CumulativeDist="-912.849540" E="204.589680"/>
</PVI>
<PVI PVIType=""Hfil ">
<PVIPnt StationNO="4" AddDist="51.405041" CumulativeDist="451.405041" E="184.125860" VCL="200.000000"
VCR="13333.333330"/>
</PVI>
<PVI PVIType="*[#] ;i">
<PVIPnt StationNO="18" AddDist="43.231708" CumulativeDist="1843.231708" E="142.371060" VCL="150.000000"
VCR="4285.714290"/>
</PVI>
<PVI PVIType=""+ il ">
<PVIPnt StationNO="36" AddDist="0.000000" CumulativeDist="3600.000000" E="151.154900" VCL="300.000000"
VCR="12000.000000"/>
</PVI>
<PVI PVIType="H[{.5">
<PVIPnt StationNO="55" AddDist="0.000000" CumulativeDist="5500.000000" E="113.154900" VCL="200.000000"
VCR="1165.563"/>
</PVI>
<PVI PVIType="#% ">
<PVIPnt StationNO="75" AddDist="38.680395" CumulativeDist="7538.680395" E="5714.285710"/>
</PVI>
</Vertical>
</Alignment>
</Alignments>
<ExVerticalSurfaceLines>
<ExVerticalSurfaceline Name="ft#ri& % 1" RefHorizontalName=""F-[fi##J¥ 1">
<ExVerticalSurfaceLinePnt StationNO="-9" AddDist="12.849540 " CumulativeDist="-912.849540 " E="200.00000 "/>
<ExVerticalSurfaceLinePnt StationNO="1" AddDist="28.609189 " CumulativeDist="128.609189 " E="190.00000 "/>
<ExVerticalSurfaceLinePnt StationNO="6" AddDist="10.046187 " CumulativeDist="610.046187 " E="180.00000 "/>
<ExVerticalSurfaceLinePnt StationNO="8" AddDist="1.164061 " CumulativeDist="801.164061 " E="170.00000 "/>
<ExVerticalSurfaceLinePnt StationNO="11" AddDist="11.335136 " CumulativeDist="1111.335136 " E="179.00000 "/>
<ExVerticalSurfaceLinePnt StationNO="13" AddDist="97.044569 " CumulativeDist="1397.044569 " E="165.70000 "/>
<ExVerticalSurfaceLinePnt StationNO="15" AddDist="4.144598 " CumulativeDist="1504.144598 " E="153.60000 "/>
<ExVerticalSurfaceLinePnt StationNO="15" AddDist="36.422809 " CumulativeDist="1536.422809 " E="150.00000 "/>
<ExVerticalSurfaceLinePnt StationNO="19" AddDist="5.114568 " CumulativeDist="1905.114568 " E="140.00000 "/>
<ExVerticalSurfaceLinePnt StationNO="22" AddDist="84.880210 " CumulativeDist="2284.880210 " E="150.00000 "/>
<ExVerticalSurfaceLinePnt StationNO="24" AddDist="18.045052 " CumulativeDist="2418.045052 " E="170.00000 "/>
<ExVerticalSurfaceLinePnt StationNO="26" AddDist="47.414468 " CumulativeDist="2647.414468 " E="168.70000 "/>
<ExVerticalSurfaceLinePnt StationNO="27" AddDist="94.461840 " CumulativeDist="2794.461840 " E="158.40000 "/>
<ExVerticalSurfaceLinePnt StationNO="28" AddDist="10.717623 " CumulativeDist="2810.717623 " E="156.70000 "/>
<ExVerticalSurfaceLinePnt StationNO="29" AddDist="27.992541 " CumulativeDist="2927.992541 " E="147.80000 "/>
<ExVerticalSurfaceLinePnt StationNO="29" AddDist="38.383824 " CumulativeDist="2938.383824 " E="147.40000 "/>
<ExVerticalSurfaceLinePnt StationNO="41" AddDist="17.201982 " CumulativeDist="4117.201982 " E="140.00000 "/>
<ExVerticalSurfaceLinePnt StationNO="48" AddDist="56.811979 " CumulativeDist="4856.811979 " E="130.00000 "/>
<ExVerticalSurfaceLinePnt StationNO="51" AddDist="22.209592 " CumulativeDist="5122.209592 " E="126.40000 "/>
<ExVerticalSurfaceLinePnt StationNO="51" AddDist="47.267194 " CumulativeDist="5147.267194 " E="123.20000 "/>
<ExVerticalSurfaceLinePnt StationNO="53" AddDist="86.007675 " CumulativeDist="56386.007675 " E="120.00000 "/>
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<ExVerticalSurfaceLinePnt StationNO="54" AddDist="10.537475 " CumulativeDist="5410.537475 " E="113.70000 "/>
<ExVerticalSurfaceLinePnt StationNO="54" AddDist="24.760566 " CumulativeDist="5424.760566 " E="112.20000 "/>
<ExVerticalSurfaceLinePnt StationNO="54" AddDist="47.822932 " CumulativeDist="5447.822932 " E="110.00000 "/>
<ExVerticalSurfaceLinePnt StationNO="59" AddDist="23.735120 " CumulativeDist="5923.735120 " E="115.50000 "/>
<ExVerticalSurfaceLinePnt StationNO="67" AddDist="12.024340 " CumulativeDist="6712.024340 " E="130.00000 "/>
<ExVerticalSurfaceLinePnt StationNO="67" AddDist="97.569905 " CumulativeDist="6797.569905 " E="140.00000 "/>
<ExVerticalSurfaceLinePnt StationNO="68" AddDist="11.683125 " CumulativeDist="6811.683125 " E="150.00000 "/>
<ExVerticalSurfaceLinePnt StationNO="70" AddDist="23.099192 " CumulativeDist="7023.099192 " E="160.00000 "/>
<ExVerticalSurfaceLinePnt StationNO="71" AddDist="91.947950 " CumulativeDist="7191.947950 " E="150.00000 "/>
<ExVerticalSurfaceLinePnt StationNO="74" AddDist="20.459777 " CumulativeDist="7420.459777 " E="140.00000 "/>
<ExVerticalSurfaceLinePnt StationNO="75" AddDist="99.775792 " CumulativeDist="7599.775792 " E="130.00000 "/>
</ExVerticalSurfaceLine>
</ExVerticalSurfaceLines>
</RoadGm>
</RoadGmxml>

67





